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L.(  )Inacommon-source amplifier, the output voltage is  (a) 180° out of phase with the input  (b)in
phase with the input  (c) taken at the source (d) taken at the drain () answers @ &) (O
answers (a) and (d)

2.( ) A common source amplifier has a load resistance of 10kQ) and Rp=820Q. -If gw=5 mS and Vin=500mv,
the output signal voltage is (@)1.89 V (b) 2.05V (c) 25V (d)0.5v »

3. ) The common-gate amplifier differs from both the common-source and common-drain configurations in
that it has a (a)much higher voltage gain  (b)much lower voltage gain (c)much higher input resistance
(d) much lower input resistance +Z§Cv

4.( ) Determine the Miller INPUT capacitance in Figure 1.
(a)812pF (b) 912pF(c) 4pF (d)10 pF L

5.( ) Determine the Miller OUTPUT capacitance in Figure 3
1. (a)812pF (b) 912pF(c) 4pF (d)10 pF

6.( ) In a step response test of a certain amplifier, rise time
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~20ns.  What is critical upper frequency f,, (a)
116MHz (b) 13.5MHz (c) 17.5MHz(d) 146MHz

7( ) A certain transistor has an unity frequency (fr) of
175MHz. When this transistor is used in an amplifier
with a midrange voltage gain of 50, what bandwidth can be achieved ideally (a)1 7SMHz (b) 3.5MHz (c)
17.5MHz(d) 146MHz .

8.( ) Determine the V,,, (max) =7V of Figure 2 (a)11.4 (b)-11.4 (c)-7.94 (d)7.94 (e) none in above
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9.( ) Infigure 3, find the output voltage when the input voltage are applied to the scaling adder.? V (a) 3.57
(b) -3.57 (c) 3.23(d)-3.23 (e) none in above

10.( ) In figure 3, what is the current (1A) through Ry (a) 35.7 (b) 357 () 3.57 (d) 75.3 (¢) none in above

11. () determine the center frequency of figure 47 kHz (a) 3.39 (b) 7.23 (c) 45 (d) 4.95
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12.( ) Discuss the low-frequency response of Vo g _p =125
the BJT amplifier in figure 5. The Y Ch=25pF
critical frequency of input network of C, is Figure 5 P Coc = 10pF
(a) 578Hz (b) 6.89kHz (c) 177Hz (d) <k Sma G
410Hz (e) 102kHz ¢
13.( ) In figure 5, the critical frequency of I""‘
ouput network of C; is (a) 578Hz (b) :6 LuF
6.89kHz (c?177Hz (d) 410Hz (e) 102kHz <
14.( ) In figure S, the critical frequency of Vi -3
bypass network of C; is (a) 578Hz (b) = =
6.89kHz (c) 177Hz (d) 410Hz (e) 102kHz
15.( ) What is the voltage gain of figure 5 (a)34.7 (b)86.6 (c)66.7 (d)90.1
=~ FESERAGLN+-4Y)

1. Drawing the Ry waveform for each circuit and indicate the peak values. (Assume voltage drop is 0.7 when

diode foreword bias). (10 43)

Figure 6 (a)

2. Determine transistor terminal voltages Vg in figure 7 with respecf:

to ground and I¢.

Vae (10 43)

Do not neglect the input resistance at the base or

3. In Figure 8, find Rin=? Q and find A(Vou/Vin)=? Current gain="?
Power gain=? (20 4})
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